2.0 HOMEWORK
2. A
5) Wmf,%fu

My = M CO2 (45)

= L u
J2

vw;, =Udn 45 = J_;__u,

=F) WW,%ZW

Mn:mm QD
wy—’— -W a0
1) P& ) 1) (1= - (3,5)

(2,9 - (3,2) £2,-9)

~1,5) /




15) 546,25
<30, [0”
2) kotrh.-
2y, —w VW
2v-9
= <23 W= <415
(1) 2<2,3% (i) -w
= {-4,-1>
4,6

i) <2, +<4, )] (v) 2v- >\Af ,
= < /C - )
ce,ay | AP

= <0,5)



os h
> 4ch
<3,4
4) uni WT"




47) ﬁzmé)’*@wt /

(maf_u,m@
7 -+



|2. 1 HOMEWORK

P =7

PR -
<3,-2,%>
R-P = <9 -2,%>
<\)4;%§—<m)‘j)7_7
|- =9
4- y = - :
% 2 P=<-2 ¢ 07

3—2; ?)

2) ¥ = £4,%,12

(@) <2,4,0) paraths
B s b



<=1, =235 /rwt)//w)za,@&l

() L=F,- 1R, — 2\ pasallel % gpp
@A) <¢,10,14> met))

M) —2<8,11,3> + 42,1,

Crg -2, -E> <B, 4 ,4>
-8, -1g, 2>
28) = <42 -6
w= <2,-1,3>

AX

/:;’ ?_Mé)
2 -1 3



(64) U - 02+l23(7' + (-4-424
Ox -24Z° -8R

ot posallhl

w= <-3,1,47 o= <(,-2,3>

/VL Z 7

-3 1 4

¢ -1 3

(3+3% Vu - (‘24+wj + (- K

[
ot f_mf&z



31) w=<-44 D

\r+lé+4
< f,
¥ $<3/-3’_§>

Ga)

5) s, ()= <=1,2,2) +£<4,-2,1>
=44k, 2-24 , 2+
At)= <at, 1, I+ +>

At = —t4z 2-2t- |
2= | 2t =
1=1/2 -t-“l/l-



l-‘r/{=24<






